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ue Correct Answer
%o Option & Answer (With Options)

1 Yaol 2ol uctaal A lreoe HAllaNatoll Yty GuUl caulsel slat | (O yoletNet
RURE
(A)  (daustella
(B) ysgilse
(C)  ualletRot
(D) auslur

2 HlotNot AMy WA 2oe HllotNotal Axell g9 €120t (1A (B)  Noo{lsLe5a1 ot
gldauiell 58 cad A aa GuA( Aad B 2

(A)  ao{lar 3ellu?

(B) RoellsieSol actint

(C) wesslu

(D) aqlleR

3 “og B %Pclol B” Hlolcl W clotoll WURACtHL WRle] Hcct AR Aell (A) 27 3]
AAA dat AoaHAEld aurvie 1R wlaay (Qu wn (ot Gaclcunl
A B. l [Bau Aea -

(A) 22w

(B) 23 9%et

(C) 192

(D) 222

4 Yall GElOML ULl 28 Wlej HIU sRLell sl AsHall GuldL A 82 | (D) QS
(A)  Adlle?
(B) &

(C) (Aclaler
(D) WS




(A)
(B)
(C)
(D)

clolet’ Aseo(l AM 92l wsl
Y + wdLd

el + AL

Y + ol

l + 3l

(A)

Y + ol

(A)
(B)
(C)
(D)

AlgA2 Yol Usldoll A3ulldall dessl g edl ?
Adougl
axlousgl
clletongl
BAou sl

(€

cletongl

(A)
(B)
(C)
(D)

A g2 Yagl urtld ol sal s yu@d 8 ?
go2tocllall

wallou gl

Aclls

sldletsyu

(B)

reCIE

(A)
(B)
(C)
(D)

sl AU ¢RAAA @A AUA SYYell GUOLAL USAL &cll ?
slRyzl

aslen

Yo

UHELALE

(€

Yrd

(A)
(B)
(C)
(D)

3. 1460 of 8% AW 100 (& cl¥o] ULE Y 3. oooooervenen AL
32

40

492

1500

(A)

32

10

(A)
(B)
(C)
(D)

ALSall LA Loll l2o] UYIYA 53 & ?
Fe,03

Fe;0;. x H,0

Fe,03.H,0

Fe,0;10H,0

(8)

Fe,0;. x H,0
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(A)
(B)
(C)
(D)

WA Yall uasld ad WAl otyetioll WO g & ?

WAl Alauul Ayl A As wet wel

Ul Adlatell WA U sclclloll Elcl B Buila

Sado2 ol HIsA

UAGL AZaAloll Ut el Uldl wal olslell YRl uR Bivll wél

(A)

OULRAAL A32ALHI
Aydl Aa As Aulet
sl
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(A)
(B)
(C)
(D)

AlsAe Yall uedlAul aupdl wW@eall s2ll ewat SlAR{letesxns saul
wa B ?

glucllell euot

gluclloll wal o8l Bluclloll ola ol

a8l siuclell el

w@zel Wwenad el

(€

a8l stuctell elol
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(A)
(B)
(€)
(D)

ARA Ase(l el
AlAA
RRRa
R
OELSCE

(D)

RARy (Al

14

(A)
(B)
(€
(D)

% gl Well U asyel ugddl sl dal sal o o & ?
AA0 8 clls

RNAVCEN

gasaA2s

sl slells

(D)

HEREEIE]

15

(A)
(B)
(€)
(D)

The period .........ccueueeueneee Over, the teacher left the class.
be

been

having

having been

(D)

having been
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(A)
(B)
(€)
(D)

AUlgA2 A2 slotlce i ol Asttdiell 58 tldell Gullal scHl Wl
ol ?

as

Als

AP RAan

sluR

(A)

as
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(A)
(B)
(€)
(D)

AR 22( A gA2 Yawl A2e] WUt dN sl 590 ?
eladl@

yau wa

GQa wa

sll@al ugddl vd (A

(A)

BEGIEB!
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(A)
(B)
(€)
(D)

sl o] BaclRelol R sl (Fecuul wAg & ?
e3U

59

WRGER

yuusle

(A)

3
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(A)
(B)
(€)
(D)

Yol €Al UUR dN6AA WSA 6ll§al AMAIAR GUR Ualcldle]
Hle et glseall sl el sl aL d ?

clgdlol as?

slrolR

oclldR

wed slegfe aldelR

(D)

Wee slefe ool
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(A)
(B)
(€)
(D)

ogatofloll Als uvll olld %3 2 Al sicat Ul sal slQall B 2
GuL2isR Al

ol2lE SR

Sog Al alitll

WA

()

l_LE SR
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(A)
(B)
(€)
(D)

flsell WS oll§ U AU dlsclcl Udcl 58 uBal %33l ® 2
allslol

o1a(lat

%olloL

(A), (B) ¥ (€) MM [QscQl

(D)

(A), (B) ¥al (C) clHIH
@QscQl
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(A)
(B)
(€)
(D)

glsul AsctAd AuRe(l avdluiell As AUR AL 531 Axy QA 531
UL Wsaal Wl ay sal Ssclloll dxdl s AUR W2 ¥33 &2 ?
ANA QUR

B2 AUR

Auclal AuR

Al AUR

(€

Auc{lal QUR

23

(A)
(B)
(€)
(D)

ofsRcHl calcdla ARlell aglae AH YAl dal sl Aucumi
uleAl B ?

2010

2006

2009

2007

(B)

2006

24

(A)
(B)
(€)
(D)

gls2 %l AUR QLuscltdl v od 8l Al dstl g sREl 8s A3 ?
sal ¥sclloll sudlMl dlolous

WA slefe dldelrq] wallox ALl

Alsdlol ubale] uoa AlaL

(A), (B) ¥ (€) A [@QscQ

(D)

(A), (B) A (C) clHIH
Qs
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(A)
(B)
(€)
(D)

ABARHL RUAA WS (LA, (32 gellNo2d - 20176l o8 SR
el 3ot oliM Rl

@zie slecll

ollcu dellR

AR 2

3clls dlolR

(€

AR anl

26

(A)
(B)
(€)
(D)

wbatoll dllol Yooz ol 9 wAn & ?
AU Qs

AASAA AUR AULLA dRl

Qur el ud

AUR wenell oy auld s?

(B)

QRASIAA AUR
LN ol

27

(A)
(B)
(€)
(D)

$o2@ glRL WA AU Yall 2ol Al Slall vl uel wenell oy ald
scll otell Aej s20L.....

aUg's gl

wgs A

$od2AR 2™

28d gl

(D)

28 cdle
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(A)
(B)
(€)
(D)

UG AcEa] ez u sl
uisq

dslaqg

wstall

QL

(D)

Her

29

(A)
(B)
(€)
(D)

$0A2AR Glee a UGS cfledtoll YaNoz usl vl dbd AuR Al
yuy sloil Aubui wad 82

$o2 A

wgs A

$o2 Yol AYS Aoll AUS As o YA

Sleell QL AUEHL A}lddl ol

(A)

$o QA

30

(A)
(B)
(€)
(D)

Change the degree: Sleep is not less necessary than food.
Sleep is at least as necessary as food.

Sleep is more necessary than food.

Food is less necessary as sleep.

None of the above

(A)

Sleep is at least as
necessary as food.
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(A)
(B)
(€)
(D)

$1dlol AsUe] clgfalel AMIYl olotldc sl & ?
Alvis

Roldu Wlevsilan

Als$

Rdls

(B)

RalA™U
Rl slH{lan
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(A)
(B)
(€)
(D)

alaerell acdl 3cll Aol sla B 2
{32l

RAWEaL Ames A2l

A2lat

ald &l otell

(B)

RNEFoL Ane
Aot

33

(A)
(B)
(€)
(D)

AW UA YR ES0 AHIAA AUl Udell Udald slol uHel %
?

AR
AAULA
AUl
cdlsyell

(A)

U8R
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(A)
(B)
(€)
(D)

$1lal Asuall sl AcRA ‘Alotol SAW dAd s sl WA B ?
$lGo2 ol AR

sl Aad

Sldlexje AdR

552 AR

(A)

$lGo2ol AR

35

(A)
(B)
(€)
(D)

‘U MG AUA - sE vl
dcdHlotgéd

AHLRASE A

CRETN

clQrugé

(A)

ddMlagEd




36

(A)
(B)
(€)
(D)

$1lol AsH usl WAeall wUys ARMl ¥d well vesidallr wa
sclloll Rald U std dlek R sl ol i B ?
R@-glsa

IR

AR AU

dl Qu

(B)

JN2ls

37

(A)
(B)
(€)
(D)

Yawl 2otell W élotl AsHoll 11 At AWML A et Aniell
olollelctHl A B ?

oy

AUEA 0GR

SRR

Wellyrellet 2012

(D)

Wdlyrellet 012
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(A)
(B)
(€)
(D)

(QAeSl3Ul Sozrale ASRLARReAL WS setHl Y Well 520 Yo Al
HA B ?

e
m
r

(B)

39

(A)
(B)
(€)
(D)

USLell 2ell AWOL cltdlRell HIZ 58 Slallsdell GUADL scllHl Ald B
?

Slsesglol

Ul Aes A2
o1 [o

os AY22

(B)

WA AeS A2

40

(A)
(B)
(€)
(D)

%l DICTIONARY 2l0€a 1234256789 515 olo1? gLl £2llclcuul v dl
ORDINARY 2l6€a 58 3ld e2llcl asta ?

59126789

58126789

57326789

56126789

(B)

58126789

41

(A)
(B)
(€)
(D)

Yawl Aol W éloll AsHo] 2Wlet 58 %A 8l (Bcllas B ?
Yool AsHo{l oA

Yool AsHoll Gur

Slelladl Asusdl (1A

Srlol Alsuell wen

(B)

Yool AsHo{l GuUR

42

(A)
(B)
(€)
(D)

Alotl AsHUL AHUAR AARA Wl Ys18 21Ad Wl stac 9
aruRel ?

o ARolls

alggls AR

ARt

well

(€

ARt




43

(A)
(B)
(€)
(D)

Ao’ sl ABUSIR GUAUH ] ?
HQeLsR el elg

YRl dvcdRe oNBEa

ol.8. 6L812

adelisR aleleis: €q

(€

ol.5. 8L8\1R

44

(A)
(B)
(€)
(D)

Al ealdct ewdlluiell s20 ewdl WA RAss0ll 2UsUul Sl Hadl
ol ?

AUEs: ol

aRR

UaSR 52

R@os2 Au

(A)

ULess? 3ot

45

(A)
(B)
(€)
(D)

Give plural form of: ‘grief’
griefs

grieves

griefes

grief

(A)

griefs

46

(A)
(B)
(€)
(D)

HeAH sEoll As AW sA2 Yall AUl 6Aose RIASe] 2Wlet sl el
HA B ?

A2 R@Asel GuR

Soslol AsHoll oA

A2 ua 106 RAS(l A

Slelladl Asuadl 1A

(€

WR WA F1Y3let
RAes0(l a2

47

(A)
(B)
(€)
(D)

A 5A2 Yall AsHoll s2Al RAAS U ARR &ldl otell ?
SPREIT]

we

@PH]

oAode AUx A2

(A)

£5199let

48

(A)
(B)
(€)
(D)

AMA - 2017H1 AR ol dAsiUtlalsll dRonelles HEL sl ellRde(l Alell
WL Aseatcte] AsURL sclMl e, ul 2ole sl alHedl vl B.
ALY - a2l
alAls - Aslloll
olfls - A
otloll - altaldl

(D)

Aotloll - olL2l3l

49

(A)
(B)
(€)
(D)

AlgAe Yarl AsHoll 52l RAS2 s % [BauHl $cl 8l B ?
Qe Ua sAode

oQode sl rYlet

@2 el 1Yl

WAe, 6ok AUy rialel AQA

(€

WR A 51990et

50

(A)
(B)
(€)
(D)

A wellale vrar s cisel sl
& aellale 2y 8.

é aellale audlaL.

el wellale wutal,

el wellale vueuHl vl

(€

el aellaie
vyl
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(A)
(B)
(€)
(D)

UM A Qode AU olotlciadi WA B ?
02 AU lls

RUR AMUY AUHS

R AMY s

§5cl R

(A)

0R AHX Yolls

52

(A)
(B)
(€)
(D)

A2 Aol Slelladl AsHul axldre ewollHl s20 ewdl 8ldl ol ?
oLl
wee ol§

Slelladl Aget
udal

(D)

usal

53

(A)
(B)
(€)
(D)

A AUl ULl (Feetla oA gaidat RFeatxll U8l sau Becoll
&€ wdl ool ?

olollu sisl

YRosololR

R

3l

(€

AloR 516l

54

(A)
(B)
(€)
(D)

Wodl A2 g W’ SlalsU sl dscllAcd &l B ?
A2 RAes2e(l Guz

Soslol Yol Gur

Slelladl Asunl

Siflat Yol Gur

()

Slelladl AsHui

55

(A)
(B)
(€)
(D)

tlol WIAE@s sUAN ULARHL Fclcll sAL Pl AHL EIHEA SAA D ?
del
wnQa

a6l
GeR

(B)

w9

56

(A)
(B)
(€)
(D)

AU s H3e(low stdd 2 R olotdlol AsHML 9 AR WA & ?
dleloL AL audg uesl A

dlol3loL B sUoall adelotul rlol e

Aol uaq $rd U NA

ool et uR wcl s

(A)

olo3loL AL Al
28l

57

(A)
(B)
(€)
(D)

UidRARA A3 AU WU g da d L) ?
210 x 297
297 x 420
420 x 594
105 x 148

(B)

297 x 420

58

(A)
(B)
(€
(D)

U oll W ol Al ?

As USHoll U¥olo] 3ULAR SRR

AL 3ULAR $RelR

As el ofly Ml WofallE 5R0lR
As ofldal Weltoll utotell Adell dusiiR

(A)

As A5l UXolo]
3ULAR SR
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(A)
(B)
(€)
(D)

Yool el wdofl sral 9 GRRaUMl WA B ?
AsyuR

$A{let

2UcRLE et

ARt

(A) Asyar

60

(A)
(B)
(€)
(D)

Give the Noun form of: To bear
bearity

bearable

bier

born

(c) bier
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(A)
(B)
(€)
(D)

Gein sellef tg2o(l R yYarl sal AL AUR6A GuAlal s Bdlas
@A ?

A% YUR

gfloL QuR

3oss AUR

UL YUR

D) & AWR
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(A)
(B)
(€)
(D)

‘SERBW AURe] MU wRuAl.
18x23

13.5x17

15x 20

20x25

(B) 13.5x 17
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(A)
(B)
(€)
(D)

sl AUl JurA3(l [QAoraueuss 3wlloll A1 gLl % s
UAA BEIFUA 2017-18 Vol ALK UA He2AMU cololl URARA

75 AL Hl2Rell 2ollNo2 3 $A2 HIZ AU USSR gl 32l 32l
USLA WU Cll] sRAAAHL W] B ?

3. 243 A

3. 3.42 AW

3. 3.24 Alwl

3. 4.23 AW

0) 3 243cm

64

(A)
(B)
(€)
(D)

UUR A . AAAH. A2@A dA g AHl Ol ?
AU AR HleR

i flsll$ HleR

o lsao Hle?

A Arud Hler

(A) gy AR leR
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(A)
(B)
(€)
(D)

AWHO Ulclloll SLOML 58 ollold HIZ2 Yvlld YAl ?
@sot

cLulol

Alsaldl

welaldl

O yaaudl




66 AUR 58 Rl au wdeusel 2 d ? (A Jeel [Rauni
(A) et [2ouni
(B) Al ol Yeet [Rauni
(C) Asel Aux AU el Yot [Bauni
(D) (), (B), () USl Asurl (&2 o8l
67 AUR olollaz dua ¢ AAA otslML U5l £ scll BlsA2 AAHL 58 €)  Qseglol
Sl ysauui 2ud 8 ?
(A) glil Ac
(B) ol W&
(C) Sslsedlal
(D) Wl Asla
68 SlAR UellHd Aviclle] LNREL Slad Ad) Ud B 2 (B)  (p), (B), (C) AHIH
(A)  aum daad
(B) storrwl@st
(C)  nstatarRuAsL
(D) (A), (B), (C) I
69 QuR GuR Ylac cl yagl wél 58 ualdal ad AUR uR Yst a d 2 (D) () (B), (C) AHIH
(A)  WollBatet
(B) lsAlsieRatet
(C) SauRaet
(D) (A), (B), (C) AHIH
70 R AU A ¥oU) clsele sAR cllset Rl (B) 2w wull A
(A) R wll Ad 0L, o921l
(B) i auudl A oL,
(C) A vl Act woLeletl.
(D) A uu{l A 2Ll WL
71 A2 g wesladl g 529l ? (A R Az Als Y
(A) ALl A2 Alg A slausH st 59 das sild s2q
(B) wdlui ARRLt GRRA
(C)  wdlui eUstesel GRRq
(D) yaRl Uct AUR UR WRH{lu ulas: siedl
72 YRd AU U sl $cdl %l wélett WaiNozd Aol waar otz | (€ Qo
U AR Al dAal g sdal?
(A)  shecusdalst
(B) Sl A{latsRatet
(C) =aslo
(D) ¥ loscllot
73 56 13 Wl ® A wrudl @ R - 2@t
(A)  esl - Hlcat
(B) awau - Hll(cat
(O Ra - =lda
(D) cusell - At
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(A)
(B)
(€)
(D)

58 clel@lsdl AMRan weall e ] usdl ol 2
Gosull

A28\ clls

saesl aostaol

HERECE(E

(B)

A8l cls
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(A)
(B)
(€)
(D)

Change into passive voice: Who taught you grammer ?
By whom did you teach grammer ?

By whom were you taught grammer ?

By whom was you taught grammer ?

Who taught you grammer by ?

(B)

By whom were you
taught grammer ?
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(A)
(B)
(€)
(D)

58 lglalle] Ml srauedl cld seR 1A ?
AA + Al

A + o

Al + oA

AAL + HBoRL

(D)

AAL + HBo2l

77

(A)
(B)
(€)
(D)

efdau oI sl sl Slal U B ?
$5d W2 UR

W2 Aol 6Aode UR

g1t RAes? UR

YRd 2Act AUR WR

(B)

AR Wal 6Qede UR
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(A)
(B)
(€)
(D)

AU [QscnHiell »AUye AuRllell dacsaul 58 ] ?
AR AUX

dall sl

slucuge

Aol Yo

(B)

dell s

79

(A)
(B)
(€)
(D)

A sA2 Yool 2 A8l (A ealdet Udl 58 uBa s3I astdl «tell ?
Wil oAlaL

Aladl yaa

sylol 4l

A50)s Yall

(A)

A AlaL
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(A)
(B)
(€)
(D)

6 ol ollcAll A ol % clleAl’ cllsatoll eudauaus A6l gl
§ olld], oo ollg

R ollettad vy !

Rl of ol A ot % ollat’]

ollcl, ollcut, A g old !

(€

R o ol A
ol % Gl
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(A)
(B)
(€)
(D)

og0d(l Yarl s2al M2 sl ustRell wel awudl Bdtas d 2
Natclls wel

w1dld Wl

A wel

AU 2wl

()

YA wél
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(A)
(B)
(€)
(D)

Actell A Aol ad goflde sl AsA 2
U2l

Al

awul

FREEE

(B)

Al
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(A)
(B)
(€
(D)

1% LSl 9% A%AUell AL (BectHl wAd ] ?
olailsisl

% HolO1R

%allola

Axsl2

(D)

A¥s\e
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(A)
(B)
(€)
(D)

ol 202oll GuRoL sl A B ?
Yokl JouulR ddl3

QAelej Uslol sRell

A2 al 6Aose oA Uslol 13
QuR M uR Uslal dl3

()

W2 U Qo2
ol Uslol 33
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(A)
(B)
(€)
(D)

Soealee] 53 sl 2cllslot cAlatoll GUAL 52 B ?
olselos

aAlRAY

Azage

SlAA Y

(D)

St AU
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(A)
(B)
(€)
(D)

AlgAe A2AHL ‘SoAlor UlBal lR scuHl wd & ?
WAe el scll awa

e dal 6Aose stacll aud

oQodeoll ALSUSLE €12Ulel

UL AU A B auad

(D)

WSl WA dHIH
y(saRdl awad
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(A)
(B)
(€)
(D)

WAeal aAlsl AxaA Y4l Aull s3lell GuDoul Aol sl @R 58
yBaell el aaasl wad ?

Aolletsns ulsa

de dlariGe sl

st claGe uiEa

wAeal ooy AURHL lateflal 1t Yl Amcll

()

slal dlaGe
y(sa
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(A)
(B)
(€)
(D)

AU [@Qscuigll wul dArsald ast Aela gl
Al A o R 9LQL cael @A Al

Ald WS A dl 9.l datel RAR &t

Al AE a A2 9Ll el RAR ataL.

Ad WSl A B Al 9ol el RAR wA 8.

(A)

Uld VUl saA _UR
QL catdl RAR
L2l
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(A)
(B)
(€)
(D)

AsA2 Yagl 2otoll 1Ulol Asuul A $1Goeet AR Ul 32cl
Al el AU ?

AR 50% A 60%

AR 10% A 15%

AR 70% AL 80%

AR 30% Al 40%

(D)

WL2R 30% ol 40%
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(A)
(B)
(€)
(D)

(X+3) (X-8) = weoeerrererirrrernnnes
x> +11x - 24

x*- 8x +24

X’ -5x - 24

X' - 5x +24

(€

x>- 5x - 24

91

(A)
(B)
(€)
(D)

0R 6Aodeall 6RA £alrl UL Y RAAHL ataals(l (SRl
WaR) Alset Hiual sl AsH auRAA B ?

oy

WR &léax

. AU AN,

Bloun

(B)

AR &l
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(A)
(B)
(€)
(D)

AURA UsSlal Yal oMl Hscal vudLoetl et Arcl usdl vecl
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